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Note . (i) The maximum marks printed on the question paper
are applicable for the students of Category ‘B’.
These marks will, however, be scaled down
proportionately in respect of the students of
Category ‘A’ at the time of posting of awards for

compilation of result.

(#) Answers may be written either in English or in
Hindi; but the same medium should be used
throughout the paper.
feomoft : () yE-TF W Sifea qoie (St BY) & ferenfd
% fau sgwiey €1 qaifa 3 i fafra wlew,
fB.T. O



4464-A (2)
ot A F famfial & w=y § & afomm
F Twer o fou fge afufia & wma o,
e STUIad & F HA S
() 3A -7 A IW AT A et AR
ao § e dfes Wit S ® Wem ™
& e =fen)

Attempt Five questions in all,

selecting at least two questions from each Section.

All questions carry equal marks.
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1. (@) What do you understand by the term price

mechanism? 10

() Discuss the main features of the capitalist

economy. 10
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(3) 4464-A
What is National Capital? 4
How is it different from National Income? 4

What are the problems confronted in the estimation

of National Capital? 12
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“Inequalities in income and wealth are desirable.”
Comment. 10

How is the inequality of income measured with the
help of Lorenz Curve? 10
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What methodology is presently used in the estimation of

National Income in India? What changes do you find in

the composition of India’s Net Domestic Product since
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5. “Economic development brings about changes in the

occupational structure of a country,” Comment. 20
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6. (a) Draw a price-consumption curve and with its
help derive the market demand curve for a

commodity. 10

()  Decompose price effect into income and substitution
effect for a fall in price for a Giffen good and inferior

good. Use diagrams. 10
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(a) Distinguish between perfect competition and

monopolistic competition. ‘ 10

(b)) How is price determined under conditions of

monopolistic competition? 10
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State and explain the Law of Variable Proportions and

its phases. 20
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Explain the relationship between average and marginal cost.
Can marginal cost be rising, when average cost is

falling? 10+10
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Write short notes on any two of the following : 10+10

(a) Law of Equi-marginal Utility,
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(b) Price and Income elasticity of demand,
(¢) Central problems of an economy,
(d) Discriminating monopoly.
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